
U3(9).2 (mod 2)

blocks defect matrix

G : 1 6 18× 3
2 5 12× 2
3 5 12× 2
4 3 5× 1
5 3 5× 1
6 0 16001 = χ69+, ϕ14+

7 0 16002 = χ71+, ϕ16+

8 0 16003 = χ73+, ϕ18+

9 0 16004 = χ75+, ϕ20+

blocks defect matrix

10 0 16005 = χ77+, ϕ22+

11 0 16006 = χ79+, ϕ24+

12 0 16007 = χ81+, ϕ26+

13 0 16008 = χ83+, ϕ28+

14 0 16009 = χ85+, ϕ30+

15 0 160010 = χ87+, ϕ32+

16 0 160011 = χ89+, ϕ34+

17 0 160012 = χ91+, ϕ36+

Block 1: ϕ1,0 ϕ2,0 ϕ13,0

11 = χ1,0 1 . .
12 = χ1,1 1 . .

721 = χ2,0 . 1 .
722 = χ2,1 . 1 .
731 = χ3,0 1 1 .
732 = χ3,1 1 1 .

6571 = χ24,0 1 . 1
6572 = χ24,1 1 . 1
7291 = χ33,0 1 1 1
7292 = χ33,1 1 1 1
7301 = χ34,0 2 1 1
7302 = χ34,1 2 1 1
7303 = χ35,0 2 1 1
7304 = χ35,1 2 1 1
7305 = χ36,0 2 1 1
7306 = χ36,1 2 1 1
14603 = χ41+ 4 2 2
14604 = χ43+ 4 2 2

ϕ1,0 = 11
ϕ2,0 = 721
ϕ13,0 = 6561



Block 2: ϕ3+ ϕ9+

1461 = χ4+ 1 .
1463 = χ8+ 1 .

11683 = χ20+ . 1
13141 = χ25+ 1 1
13143 = χ29+ 1 1
14601 = χ37+ 2 1
14605 = χ45+ 2 1
14607 = χ49+ 2 1
14609 = χ53+ 2 1
146011 = χ57+ 2 1
146013 = χ61+ 2 1
146015 = χ65+ 2 1

ϕ3+ = 1461
ϕ9+ = 11681

Block 3: ϕ5+ ϕ11+

1462 = χ6+ 1 .
1464 = χ10+ 1 .

11684 = χ22+ . 1
13142 = χ27+ 1 1
13144 = χ31+ 1 1
14602 = χ39+ 2 1
14606 = χ47+ 2 1
14608 = χ51+ 2 1
146010 = χ55+ 2 1
146012 = χ59+ 2 1
146014 = χ63+ 2 1
146016 = χ67+ 2 1

ϕ5+ = 1462
ϕ11+ = 11682

Block 4: ϕ7,0

5841 = χ12,0 1
5842 = χ12,1 1
5845 = χ14,0 1
5846 = χ14,1 1
11682 = χ18+ 2

ϕ7,0 = 5841



Block 5: ϕ8,0

5843 = χ13,0 1
5844 = χ13,1 1
5847 = χ15,0 1
5848 = χ15,1 1
11681 = χ16+ 2

ϕ8,0 = 5842


